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EC-2K-302 - ELECTRIC CIRCUITS AND NETWORK 1TIEORY
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Answer all eigftt qucstinns in I.

Find the Norton's equivalent for the circuit shown in Fig.1 at teminals AB.
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Fis. I

(b) Find the impulse responbe of a simple RC network.

(c) What is convolution integral ? Explain.

(d) What ar',e the necessarJr conditions to be satisfied by the trarisfer function ?

(e) What are the'ctraracteristics of s5rmm:trical network ?

(0 Draw the z-paraneter equivalent circuit for a two-port netrvork. Explain its parameters.

G) What are the properties of positive real fuaction ?

(h) What are the applications of maximum module tlreorem ?

(8x5=40marks)
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Answer either (a) or (b) of qucstinns II to y.
''

voltage v which calrses the current Ir to be zero in the following F.,s.2.
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(b) In the following Fig.3; find the current transient when the switch is closed at f
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III. (a)
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Fig'3 (rs nar,bel\
Explain how R, L and c can be trangfomed as admittance in sdomain. (6 -"iS' 
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y"*q Mesh andysis fin*the value of V, in the follming Fig.4 such that current in-theimpedance{B +74 a) is zem. e - -o'

Fig.4
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O) Ihaw th" pol" zerro diagram for the given

I(s) = . 2os
(s+5Xs+2)'

Determine the transfer functions Z"r(s)and Grr(s) for the network in Fig.E.

(6 marks)Find the charaeteristic impedance and 
B-p^ag3tioq-constant-of syunetrical T and n

nerworks. what is the 
"*r.ii"i-r"i*? n zo of T and a networks ?

BHffJ#i#x'h:T pass filter for the following specifications with suitabre

f"= 4kItz Lr= Sklfz R = 5oo a.
(15 marks)
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obtain i(r)

(9 marks)
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Explain about Strun,s theorem.
Determine whether the following.polynomial is a Hurwitz polynomialp(s) 

= 2s6 +, s5 * 13s{ + 6d + 56s2 + 2Es + 25-
Or

DesigD the first and second Foster forn Lc network for the fouowing fuansfer function.

z(s) = 
(s2 +1Xs2 +9)

s(s. +4)

(15 marks)

@ x tE = 60 marks)
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Fig.5


